20144 RiEA
BISBEVAT LA

50 EHAERYRREE

FEAK #iE <araki@mobile.ee.>
20144%#5H821H

BERTDa—ILRETH)

aft HHE RE
#1@ |48 9B 1.7 BIRBIESRTLOBE
~|EEE802.11WLAN% [~
%20 |4A168 2.5, 1t | BRBIESATLAOETILETII—DUT
#3E |4A238 ERCHROET TS
$4E |5A148 3.3.34 | TACHNERERIER
#5@ |58218 35 BIRAARERYERN

%6@ |5A28H 35 HEMTHERMELSE

%708 |6A 48 4.3 R ER

201445A218 ERARERY R 2

uF OALEDR S
- {48ZE
- BEHER

s(t) =5, (1) + jso (t) = F(m(t))

T—AL—h BHE, BERHE, EvrRYE
W R ER (R HIR)
< SR/ SLR

ses® = [0, (Dst-r)dr | - FrERMULR
o HHIRINILR

BT

. ZIEWDER

s PHRJEREN

e BETAILA

- EHARRK

* BPSKIEEDiRY =44

s TOMDOERFRDIRYEFMH

T7FHOJEXER TORIER
BRRESEZERARERESICRR HERESEERES TR

201445/218 WAEARERY R 5

HHEE. EvhEYE : |
B EXTFOSER o D=V FoRIIZEITHIRY RS
Sge (t) = Sgg (1) COS(27 1) — Spgq (1) sIN(27 T 1) . FE
B3 R
2014%5H218 WRAAREBYREE 3 2014%5H218 WRAAREBYREE 4
7 = +H = = =2
Z{EH RFF®2EES
200527t -8,) [ s | h(KT) cos(27At) hO=hOR™ o (t)
. nRi(t) g,(t) T - > j /\ Y .
FFAa X
~| |7+oy ey A ] Foan BEXEH ~/ _._H_'
B sovs [ dww | wm [ "xz“ﬂs © "O=2ho f;’ ®
Yre (1) Yes (t) y(kT) §(KkT)  M(kT) s RF [ R
HIEES
MRS E BEILE Spe (1) = r(t) cos(27f t + O(t)) = Re[sgg (t) exp( j27f1)]
BABERTRES SRME ESRMEENLL SNR)ERALL RS
, yﬁﬁ%ww L3 Vee(t)= Z\h. (Olr (t) cos(2z(f, +Af, )t +6(1))
LR EMUSND T BERE ERBEE L REBEOBE = 3" Refh, (1) exp( j 27T )55 (1) exp( j 27, 1)]

C =Re[h(t)ss M) exp(j2A)]
BIEES

Yre (1) = Re[N(t)sgp (1) exp(j27f 1)1+ nge (1)
201445A218 WEARERYREHY 6




THOgEXREHREAN)

Nee (1) 2cos(27f t — 6,

v A +ay
X 77Aa
9 EXER

%)

i

Yee (1)

Yre ® Yes ® y_Q&)
RFHZIEES
Yre (1) = Re[N(t) g () exp(j2A41)]
FFOJEXER (RERS)

¥, (t) = Re[h(t)sgg (t) exp( j2Af t)]2 cos(2Af t - 6,)
=Re[h(t)sgg (t)](cos(A;szt —6,) +c0s(6,))+ Im[h(t)sge (t)](—sin(Anf(t —8,)—sin(6,))
= Re[h(t)sgg (t) exp(j4#f t)]+ Re[h(t)sgs (t) exp(j6,)]
+ D N - |:> T N A — ﬂ
—f, 0 f, f -2f,  —f, 0 f, 2f, f
201445A218 ERARERYREY 7

v | 7
X 7oy
a BEXER

THOgEXRER(2)

Nee (1) @2 cos(2xf

BAY

Ve ) Ve (1) Q)
RFHZIEES
Yee (t) = Re[h(t)sgq (1) exp(j 27 1)]
THAJEXER
¥, (t) = Re[h(t)sgg (t) exp( j2Af t)]2cos(2Af t - 6,)
= Re[h(t)sgq (t) exp(j47£,)] + Re[h(t)sgs (t) exp(j6,)]
o t) = Re[n(t)sq5 (1) exp(j 27, 1)](~ 2sin(27f L - 6;))
=~ Im[n(t)545 (1) exp( 7]+ IM[N(t) S5 () eXP( 6]
A—/XRT4)LAE
yBB(t) = Lpf(y| (t))Jr i Lpf(yo(t))= h(t)sse(t) exp(jHD) + nEB(t)
201445A218 ERARERYEEY 8

HE ()

(o) @2 cos(2A L0,
|

a 705
> EXER

n(®

Nge (1) Ngs (t) Mg ®
RFFHE
Nge () = N, (t) cos(2Af .t - 6,) —ng, (1) sin(2A L - 6,)
/ R
A7 L 5> REBEZQR S
BBHHE

N (t) = Lpf[nge (t) 2cos(24f .t - 6,) ]
Ny (t) = Lpf[ng (t)(- 2sin(27f t - 6,))]

N (t) =N (1) + ing (t)
201445/218 WAEARERY R 9

See(F) Sy, (1), Sy, ()

W B
"y } - [> } ;3 |
RF#H#E BBHME

e (1) = 0, (t) cos(27£.t - 6,) —ng (1) sin(27 t - 6;) Ngg (1) =N, (1) + jng (t)
O—NRITAIWEBZDHFARIILEES

EOEMEE Ry(r) < HEORRIML S(f)
SN‘(f)=SNQ(f)=\G(f)\ZSN(f)

PNI:PNQ:jstQ(f)df:BNU:E[

Mo®1=075 — R =P, +R, =0
RFS#HEZRIML HEDARYMVEE

1 1
Sap(f):Z(SN.(f—fc)+5N,(f+fc))+;(5nq(f—fc)+5%(f+fc))

201445/218 WHEARERY R 10

BEI4ILAZ(1)
(27 1)
nft) COsS gr(t)

\\%
e || 7387 By —
o EXER TANE |
Yre () Yes(t) y(kT)
BBHZIERES
Yes (t) = h(t)sgs (1) exp(j6,) +Ngs (t)
BBHZIERES
seo(t) = 9, () ®s(t) = > a,9,(t—nT)
RET1NEH T

Y() =9, () ® Yas (t) = 9, (1) ® g, (1) @ S(t) + g, (1) ® Ny (1)

if h(t)=4(t) 6,=0
201445A218 WAEARERY R 1

BET1ILE(2)
n(t) cos(2Af t)
g,(t)

v o
e 7oy By —
| msem | fag| 7vs
Yre(t) Yes (1) y(kT)
Z{ET/ILFHSISNR
.- o)’ e
ey S0=908%0  n0=0.08n0
EELBEOHA
AR . s
EEER HEEH

19" =[f6, (NG, (1o ElIn®)1= 2N, |6, (1) df =o?

2014458218 WHEARERY R 12




44 = 3 3o
BEI(ILE(3) BRI AXDIESE
2IEES
24t .
a)cm( X;) 00 (0 =h®)s®) exp(j6) +n(t)
\V4
7+ay BE 3 " SEES T Z=H5 5t
e B BRAR EIEA R 2iEHH
Yre(t) Yes(t) y(kT) . k
Schwarz®FEF = 2R ASK sk = ‘y( %(t)‘
9(0) =|[ &, (e, (1a|" < flo, (N df fo, (1) dr
taBSRIK FSK [ y©exp(imsttat]2<|[ y®exa(- it
BET4(LE(SNREX)
G()=G,(f))  9,M=0.(- s _ EBEE# cny _ Y(K)
%xSNR BILADIRILF— WA 0(k)=0k) - 0(k 1) = A(k_l)
E,_RL_ R _PR - 4 sty = YO
E[\ \] 2N, H T2N, 2NB o? FIERIE | PSK, QAM, MSK | $(t)= A(t)exp(jeo)
2014458218 ERARERY R 13 2014458218 ERARERY S 14
R+ TORIVIERR -
21 t FroRL|= 7"(’*)1/*&/1 FrRIL| =
n(t) cos(27f 1) we [N(KT) e |N(KT)

Y 9 (t) l _ gr(t) 1
e 7404 ma mg —Fosn] BETVAHNES o B8 —
< EXEHR T4 B —| &R =

k) = h (k)sg (k k 4B B
e ) Va® y(T)SKT) (T N

BEI(VAENES —=2UtES
y(t) = g(O) ®h(t)st)exp(j &) + g, (t) ®ngs (t) FrrILHEE EIETL— LR
y(k) = h(k)S(RTE*p(w )+n(k) g(t) FAFRMSLRADBE 2 y(k/
= h(k)= L L
R — It =0,0)®0,(t) (k) = (K) fo—=od oL K

(9 = h(k)exp(i ;)

A ~ 9(0)=[G(f)f =1 2 1K= [ 1 LT ]
s0)=y0/h () mmmmss [l =1 h==""hk / [
e e FEARFRALIADWHIE " - K gyt = gme
TOIER FL—=VTES T—HES
lﬁ(k) =f l(§(k)) for each modulation method of ASK, PSK, FSK
2014458218 WREARERYREHY 15 2014458218 WHEARERY R 16

BPSKIEE DMLY E4F 4 QPSK{EE MY =H4F 4

RHREH HES FARIRH NES

~ PSK
$(kT) = y(kT)/R m §(KT) = y(kT)/R Q

_ n(kT) /

= s(kT) + A

_ . n(kT) /
I W E 5, (KT)+ s (KT) + A

EEEA
= S I DERF IR T
;ajzjn‘z o H _ iﬁw Ells, (91 = Ellso (9 1= 7
E[sk)f1=P BEY
EyhBYE
BPSKIEBOE vhEYE ‘ erfos) = [ expl- :
ey et PR |_1 Pin|
P 1 J‘ p_(X+ P) i e,,f—erf —erfc(\/;) 7=5g7  EVPEUORESNR
Ch \/ Zl‘h‘ o'zl‘h‘Z 20° 2 o
2{ESNR T S
1 [ [ppf) 1 Pl R
=zerf0[ = ]=zerf6(ﬁ) r=— P,=1-(1-P,)1-P,)=2P, P =2P,

| Q
201445/218 WAEARERY R 17 201445/21H WHEARERY R

18




QAI\/HI:I "50) 33 [') ﬁq:# |$

16QAM

URILERY &R

(P Pg)= 2R = 2Py

JM -2 2
F’es\=( N x2F’J§“‘+(N]xF’£PSK
il i
1 Egff
=|1-— |erf
( N]e { ot B
BIEFHEAR £
My g i
P2 20 oy | 2M1E £ £
W & 3 2 H
. & £ £
Evbiay®E £ i
1 SURILERYIE
Po=——P, — Jpyrmy|cigYy s *
g log, M TEVRRYISES Averzge SNR per antenna [dB]
201445A218 ERARERY R 19

MSK®D&Y 4514

aVRBL—ay

R 1S
§(KT) = s(kT)+ ”("T%
h

MSKZERIES

s(kT) =exp(jO(kT))
O(kT) = zAfTa, +0((k -1)T) 7
O(kT) =" / +0((k=DT) o(k-1m) =07 0((k oMy - / 4

MSKIEEDE vRYZE

1 P
P, = ferfc ‘ ‘
2
201445A218 ERARERYREY 20

TT—CUS RIS T HRYE

EuhBY RS "
P = Serely) 7= I UL B

LAU—Dz—SL T F ol

f(}/):%exp[fﬁ] 7 E{m}
4 7 . p

Power [d1]

TIORYERE FHESNR

7::—*_//7 EIRRICHITHRYE

e

W
Average SNR per antenna [dB]

LA)—2z—S0 5

S
Pu(?) = [Pu() T ()dy 5
A “: Average SNR‘ [dB]

Ay [7 )02

2 7)) 7 E
20144582180 WRAAREBYEEE 21 2014558218 ponerla] WRAAREBYEEE 22

EFEH —
EX7FTAJER-BEI1LE T:E
. s f—=51E5 SR 3 FORLER

pr(t) =Re[h(t)sgs () exp(j27)] —> Yag(t) = N(t)Ses (1) eXP(J6) + Mg (1)
y(t) = g®) @ht)s(t)exp(j6y) + 9, (1) @ ngs (1)

B Fv LHERE - B R
h(k) =h(k)exp(j6,)

FAFANEBETALE
9) =g, @9, (1) = g, (-1) @ g, (1)
9(0) = [G()f =1 [|G,(f)df =1
- 1 K R = ~

:z;y(%m — §(K) = y(k)/h (k) = s(k)+ n(k)/h (k)
B BPSKIES MRY EHE

1 P | 1

P, = Eerfc[ Jrz‘ ] = Eerfc(\/;)

B I — DU GIRIRICE T HERY R

Pu(=[ Peb(y)f(y)dw%[l— ﬁj 7:5{—”2‘?‘ }

201445/218 WAEARERYREHY 23

FrrILHETE
2014458218 WHEARERY R 24




